TET TA SGT HM_SESSION-1 (16.08.22)
APTET - Paper- 1A — 2022
CDP HINDI

The statement ‘Maturity shows the gene potential of an
individual the changes occurs according to the predetermined
plan’ given by

1. Gessel

2 Craig

3. Anderson

4. W.C. Bagley

‘ Sitg @t 3MTedfrs gear Bt aard 3, 3R g gd

fereniRa ferenfora aRade gia 3’ - I8 ®aa e 32
1. AT d

2. @I

3. UsHA

4. S A.aPA

According to feedback from Educationists Primary school
age is
1. Adolescence

2. Late child hood

3. Early child hood
4 Infancy

Rrenfagi @t ufagie & 3R |, wreifHs ueener #
Hid giet & fere fererffa amy

1. Topenma=en

2. IR qreTaRR

3. yd QreamaRen

4. Qrerarazen



Teaching is

1. Transmitting Content

2. Learning to Learn

3. Guidance

4. Knowledge about environment
fraror srerfq ...

1. IS &Y 3ucieel Brel
2. 31RITAS BTl

3. HPiefd dar
4,

TTATER0T BT 3Tadiel

According to Laurence Kolhberg - Moral development
levels are
1. 8 levels

2 2 levels
3. 3 levels
4

6 levels



‘Hereditory Genius’ book written by

1. Skodak

2. Francis Galton

3. Freeman

4. W.C. Bagly

RS Siife=A T & HAD ...
1. ThISTh

2. WIedd diced

3. e

4. s AL IR

Number of ‘Psycho — Social Crisis’ in Eric Ericson
Developmental theory are

l. 5
2. 6
3. 7
4. 8

R eReaa & e Rigia & F1e Arefore Bicarsal
B T
1.

01N DN

2.
3.
4



The concept of ‘Multiple intelligence’ was proposed by
1. Thorndike

Binet

2
3. Howard Gardener
4

. Guilford
1. eIessd
2. fa=&
3.  glare amder
4.  Praws

Though “India, is the second largest population in the world,
has won very few medals in the Olympic games, the reason is
1. Lack of motivation

2. Lack of Identification of Aptitudes

3. Lack of recognizing the creativity

4. Lack of Identification of Attitudes

gfern & 3MaTdl # qIR A A 3G, HRA 3Micius Jal
# Igd HH UGh Sildd & Ig BRI &

1. ggie RO &1 31

2. TGS iHAGIN Bl STl ugTereln

3. JoTelIHBAl DI Tl ugdretell

4.  3ifgla &t ugame @ B Al



10.

The number of test’s in ‘Minnesota test of creative thinking’

l. 08
05

2.

3. 10
4. 12

Al IadTcs AT U180 &l AT

08
05

1.
2.
3. 10
4. 12

Thinking by himself about his thoughts and thinking process
1. Associative thinking

2. Convergent thinking

3. Meta Cognition

4. Concrete thinking

Uh Aiad 3106t faR ¥ dAlar gl 98 f6A aR &

3ol 3MaT 3 ...
1. JgR AR
2. TUPIpd @R
3.  Ago fmrR
4. Id REw



11.

12.

TATisa

1.

Interest test

2. Attitude test

3. Intelligence test
4. Personality test
TAT IJg§ Th

1. &g #AGa

2.  gitemiur A
3. H&IT ATUSA

4. HAfdea Amgw

First Experimental Psychology Lab established by

1.
2.

3.

4.

Freud
J.B. Watson

Wundt

W.C. Bagley

TR FHeAldTTeTep SINOILMTET &l TRATUT Sogiat 1?2

1.

2
3.
4

WbIgs
qicdd

~
<

Hc

PG|



13.

14.

According to Piaget adolescent children comes
under this stage.

1.

2
3.
4.

Sensor Motor stage
Pre — Operational stage
Concrete Operational stage

Formal Operational stage

RrRITst & 3R BNk B A 3@ # 3id &

b

ST ATeTeh gom
gd ST gl
Ad saTeTs gon
319 SATeTd gl

“The Mentalities of Apes’ book was written by

1.

2
3.
4

Kofca
Kohler
Skinner

Werdimer

‘T ACITdST 3B U’ U Bl ASIb

e

G LT

BIGER
Rtz

GILEn



15.

16.

One of the following is not correct pair
1. Skinner - Rat

2. Koheler - Ape

3. Pavlove - Dog

4. Thorndike - Rabbit

SIR A Pl AT 9Teid SNsT 82

. Reer - Erl

2.  PRR - gy
3.  Uaed - Pl

4.  UesEd - JTON 2T

A student exhibits his anger on his school bag
and books, because his teacher has punished him.
The defense mechanism is

1. Repression
2. Displacement
3. Reaction formation

4. Regression
121 & ARG W BT 37U« A B [Ba@ & A R

fezme I8 37 JeR &1 ufeRua 3
1. ufa gde

2. ufaemue

3. ufdade ferafor

4. qglore



17.

18.

The second step in the process of memory is

1. learning

2. retention

3. recall

4. recognition

At wfsram # g@RT v 9g 3
1 31

2. TROT

3. gel: THI0I

4 ugdre

In this we won’t forget with passive decay through disuse

1. Cooking

2. Bi - Cycling

3. Typing

4. Tables learning

STeueliienell & $AA ofeT =Tgl g
1. HATAT deTell

2. ATSihel Telrel

3. ChUT hIel

4 ugrs HAen



19.

20.

Talent in games may not show any influence on scholastic

development is the following transfer of learning.

1.

Positive Transfer

2 Negative Transfer

3. Zero Transfer

4. Bilateral Transfer

el A Iaptedl G den ureamaA A worfa fezme A
3rAdtea foreor gaiazor.. ..

1. TABRASB gIATARUl

2.  SIPRIHA a0l

3. 9 EIAICRI

4 fgumefdt gxaia=or

The person who remarked important facts about Action
Research

1. Stephen Corey

2. Stephen Kemmis

3. Stern

4. Sigmund Freud

A AaTIfele & BRATS MY TR 37 Ageayul fewoft
1. e BR

2. Tihel BiAA

3. o

4.  Fos BEE



21.

22.

The theory proposed by W.G. Kohler
1. Insightful Learning

2. Classical conditioning

3. Operant Conditioning

4. Trial and error learning

W.G. BigeR b gRI Uiaunied Rigia 35 3...
1. 3iadhe FW=a &1 Ragia

2. URUR® Fr# Ragia

3. Tren sy siitoe Rigia

4. W U4 gic &1 Rigia

Leave the problem aside and engage in another work is happen
in this stage of creativity
1. preparatory stage

2 incubation stage
3. illumination stage
4

verification stage

JAHT B TP 3R BishR fmit 31 Brf A Heoe
Il JoTeTTeHe Hfshal 3 SN & 3idola 31T gl

1. YURMH®E T=or

2. JNUelT geom

3.  3iaghe gom

4.  AcATY TIUT



23.

24.

According to RTE, Education is a fundamental right of every
child between the age of RTE

. 513

2. 6-14

3. 7-15

4. 6-18

3R .E. & AR fien A 31 & Il & foav vh
Fifers 31férepR B.

1. 5-13

2. 6-14

3. 7-15

4. 6—-18

Dyslexia is
1. Math disability

2 Language disability
3. Writing disability
4 Reading disability

1

2 HTST 312THAT

3. AT H 311AdT
4 Ugel &Y 3M_IHCT



The following is the best method to evaluate
child’s achievement

1. Continuous comprehensive Evaluation
2. Summative Evaluation

3. Formative Evaluation

4. Diagnostic Evaluation

Tl Bl I BT FATDHel B BT ATHA 3BT AADI

Ig Bl

. A4 JAHI Hdibe

2. HIUGUNHB FHcAihel

3. IIeTcHS FHodide

4.  ciclfersd gD

‘Knowledge of local artizons shall be incorporated in the
curriculum is started by

1. RTE - 2009
2. NCEF - 2005
3. NEP - 2020
4. NEP - 1986
S Bl & AR AT PRIORI & STl Bl UTSTHA

A onfarer fpen sen anfgwl
1.  3Mm.ELE. 2009

2. TE.A.UB. 2005

3. @e.s.d. 2020

4. w34 1986



The Child Protection’ Phone number

1. 1098

2. 1099

3. 1198

4. 1008

e FeT & fau 3N Bierear 3l
1. 1098

2. 1099

3. 1198

4. 1008

‘LAN’ means

Local Area Network
Logical Area Network

1.

2.

3. Local Algorithm Network
4. Large Area Network

‘LAN’ @1 372f 318 Bl

1. RN ERNT dcadh
2.  diteiea uRar dead

3. WIE UooNRA Sead
4. oot vl Acad

‘Zone of proximal Development’ Concept proposed by
1. Vygotsky

2 Ton Blank
3. Carl Renede
4

Bruner

fetepear faera &= &Y sraemRun &1 ulR= segia fe=n
. oz

2. BT b

3.  olct 18

4. qE®



30.

‘NROER’ isa

1.

open educational resource

2. computer hardware

3. interactive board

4. revision tool

A T.31R 3R S 3R Pad 87
1. 3e vsgseEa R
2. ez grEdR

3.  geXied ag

4. HAMeS IUBIT



31.

32.

APTET - Paper- 1A — 2022
Hindi

UEIi9T UG 3R ol fddhetl 3 uganieig|
HIOTE FIS FAHAT 3, AT Pis AN
M1 |

T9eT: AW DI A FAT 872

1. &4 e

2. HA HwE
3. G ARFe
4. A AT
UeIiel Ugeh? 3TR1 bl fadeal # uganferv|

HITT A JHAT 3, A Big AN
| |

H9eT:- BII of TG . .... o A B HEA ol
1. en

2. silel
3. dAvc
4. o=



33.

34.

35.

JMETT Ush: 3R bl fepedl & uganterw|

3CIATA g &b TRul A PR us1l 3Had! 3ima A
TTATT & 3i1 dgat oiol| MaA Ig o TR A IAS
1A UT BT B3, 3ISThR I cOMT| SH d3g dg olion A
SgoId e Bis el

59eT:- fhAal ATy & 3013 age?

1. 3ieltere
2. dNaH

3. gg

4. el

JMETT Ush: 3R bl fepedl & uganterw|

3T g & Ul A PR us1l IFP! 3iTa A
TTT & 3113 gt oot | INdA Jg o TR A IAb
A UT BT B3, 3SR I cONT| SH d3g dg clion A
SgoId e Bis el

U9eT:- SEAd HeAT UK &l 37ef Uganeiv|

1. 9 SPrE
2. 2Y dreen
3. g et
4.  BoTaed FATE

‘TMERT BT B BId Blel g2

E



36.

37.

38.

39.

40.

STIMhR TS Pl AAAS AT Bidd- &2

1. olg?
BIHATIC

2.

3. 3y
4. B
3 ... TR B
1 ad

2. ugH

3.

4 AUl TR

Fiea’ o &1 guf Redg U uganfew

. A+FE+I+F+3AN+J+ 3
A+I+I+3M+F+ 3+ + 3
A+B+I+I+3M+5+31+J+ 31
A+E+I+F+3M+T+31+ 9+ 3

> w b

foret A ‘Rifsar o/ &1 a1 HU oL
2ifoTeT

]

2. geHI
3.  goledl
4 TOTHT

‘FerH’ T fpAdT yeteart 32
TGHT
aed

=7

g

1

2.
3.
4 STCTIRI™I



41.

42.

43.

44,

45.

MeTaY’ giaroft som F1 JNerast =<t ... TIY IS 3l
U araRIiel H AT BRE Bl UANIT

1. 3BT RSB

2. P BRD

3. HdY PRSP

4. YU BRED

FAGd H St 19731 AT BIsH HOT AT g, A W AHRIAT
weeT Fyglar g1 (3FiTpa o BT o A UgTIID)

1. faowor

2. Hdam&H

3. feenm

4. sl

HAaa A e g AgG Fid 1 31ef Idaren dADiih
Bl ugdIeIv|

. = Pl el ggd A
2. UF SIET WRAWR
3. 391 & I BAdR
4., TAH MR
37t g BT &Y N /BT AN SaAbg| (JFATBa
AR &1 31ef uganterw|
1.  o=afig & Siren
2. AR Sl
3. 3ifelse @} 3MmeiT glel
4 f&Fera 3n Sren
“diet U drelt I’ 316D AR] b [T TP 9 Bl
ugdIteru|
Braren
Breen

1
2.

3. Droh
4 Bremar



46.

47.

48.

49.

50.

EAUS’ BT IUANT A HeH A gar ...

g & fAe se uR

areT A B feame gg

TR F HR B ferea F fev
ar & Be Sel IR

3 HINT &} B oty =81 gl
foarft a1 E g 33 A B
Bis foafr =gt 39 o S|
HTYT P} BIs foifty =gl & 3|

G aTHRT UgATe HITSIe|

1.

2.
3.
4

ag Pl &A BT B 3l
Ig <A BT B B gl
A} P2 &I B a5 Bl
ag <Al B2l &1 BT Bl



51.

52.

53.

54.

55.

dRumefe foham & fpaat wu gid 32
. @R

2. @
3. B
4, GG

IR AT W Aga S g1 o 3ref Bl B

wgd gy Ja BIF| IUSH BT & ITABRBIA §?

1. FGTeHAT oiteht

2. UdeE

3. H#ZER ue fgadh

4.  Riam#tor

fpaA T B TAITST BET ST 32
1. SPR IA

2. drRIA

3. BRAIA

4. AT T
aRY TION A FHATT AN AT B Pl I PEA 82
1. 3/gaAHA A Be

2. Taus Ffe Be
3. JAAHAGIG Be

4. I Tl
3UAT A picud IUHAT Bt AN A 3B A



56.

57.

58.

59.

60.

glitele RAciiall &l B 331 @1 ar?

1. A

2. A A

3. dcars siEt d

4. oA

Acls PAR oft fFA gz & HAewrfera 32
1.  ugHsh

2.  giedle

3. g@R

4.  TpcH BR
Sara-v-uma A Sart R dfwat e st & foash orh B
1. R

2. &

3. 3

4. 3

IR 3Tl AT daa BT A Yok 33 A?
1. Ugs

2. &t

3. NrRem=

4, S

g9 fpaml eTdhe Jiiva &t 3ifHAT Taa &2
1. el & dc

2 aRY

3. UAPR

4. fagd



61.

62.

63.

64.

APTET - Paper- 1A — 2022
English

Choose the noun that can be treated either as
singular or plural.

1 committee
2 economics
3. goods

4 police

I’m late,

Choose the correct question tag.
1. dol?

2. isn’t it?
3. amn’t [?
4. aren’t [?

“I am your husband.”

Choose the appropriate reporting clause for the above

reported part.

1. I said to him

2. She said to him
3. He said to her

4. She said to them

Choose the sentence that indicates an ongoing
action in the past.

1. She is cooking.

2. She has been cooking.
3. She was cooking.
4.

There was a cooking pot.



65.

66.

67.

68.

Choose the adverb of manner from the following.

1 fast
2 last
3. today
4

often

Your good guesture will highly appreciate.

Choose the option that can improve the underlined part.
1 will highly appreciated

2 will be highly appreciative

3. will be highly appreciated

4 will appreciate high

Choose the modal verb that can express ability and permission.

1 can

2 must
3. ought to
4

dare

The thief emerged the cottage.
Choose the combination of prepositions to fill in the blank.

from into
from under

1
2
3. from behind
4

from upon



69.

70.

71.

72.

Choose the subordinate conjunction among the following.

1 notonly ....... but also
2 as soon as

3. neither ...... nor

4 but

It is said she is really very witty and intelligent.
I found her to be quite boring and a bit slow

Choose the linker that fits the blank

1 In spite of

2 On the contrary
3. Next
4

On one hand

Rajesh,  is my neighbour, is a great singer.

Choose the relative pronoun to fill in the blank.

1 he

2. whose

3. which

4 who

Choose the sentence in passive voice.
The situation was described to me.
I described the situation.

1
2
3. He will have completed his work by tomorrow.
4

He got the first rank by chance.



73.

74.

75.

76.

We had a very sumptuous lunch.

The word sumptuous means

1
2.
3.
4

delicious
scenic
auspicious

SEvEre

Add a suitable suffix to get the opposite meaning
of the word ‘fortunate’.

1
2.
3.
4

mis
un
ir

il

The thief had left behind one thing as a final insult.

The meaning of the phrasal verb ‘left behind’ is

1
2.
3.
4

His research in optics,
in

to take some time for something
to arrange something to happen
to remove something from inside

to leave something as a token of memory

science of light resulted

discovery of the Raman Effect.

Choose the right set of articles to fill in the blanks.

1
2.
3.
4

a, an
the, an
an, the
the, the



77.

78.

79.

80.

Choose the interrogative sentence from which the given

statement is formed.

You are an orphan.

1. Is you an orphan?
2. Are you an orphan?
3. Is he an orphan?
4.

Does he an orphan?

Choose the punctuation mark used to separate
three or more items in a list.

l. a comma

2. a full stop

3. a question mark
4.

an exclamation mark

This is to be written on the top right side of a letter.
1. Place and date
2. Salutation

3. Signature
4.

Receiver’s address

The word printed at the top of a page in a dictionary is:

1. a guide word
2. glossary

3. vocabulary
4.

lexicon



1.

82.

83.

When the word ‘like’ takes the suffix ‘able’ the correct
spelling of the word is

1
2.
3.
4

likeble
likble
likable
likieble

Choose the correct prefix to add to the word ‘graphies’ to
complete the meaning of the sentence.

I do love reading graphies of successful individuals.
1 by

2. bio

3. non

4 sub

Read the following passage.

Swaminathan kept staring foolishly till he received another
whack on the back. The headmaster demanded what the young
brigand had to say about it.

The young brigand in this passage is

1
2.
3.
4

the headmaster
a thief
Swaminathan
a foolish thief



&4.

85.

86.

87.

Read the following passage.

Swaminathan kept staring foolishly till he received another
whack on the back. The headmaster demanded what the young
brigand had to say about it.

Choose the correct statement from the following.

1
2
3.
4

The headmaster punished Swaminathan.
Swaminathan was a thief.
The headmaster was a foolish man.

Swaminathan received a prize from the headmaster.

Middle English was the result of

1
2.
3.
4

Language Policies
Norman invasion
Renaissance movement

New Education policy

NCEF stand for

1
2.
3.
4

National Court Federation
National Curriculum Framework
New Criminal Force

National Cadet Force

The number of stages in the process of developing speaking
skills according to Thornbury is

1
2.
3.
4

6

4
2
3



88.

&9.

90.

A meaningful interaction in spoken or written
English is called

1 a sentence
2 grammar

3. a discourse
4

a phrase

CLT stands for

1 Community Language Tuition

2 Communicative Language Teaching
3. Commercial Language Table
4

Continuous Language Teaching

“Plan your work and work your plan.”
This statement was given by

1 Nepolean Hill
2 V.J. Cook

3. Charles Fries
4 Robert Lado



91.

92.

93.

APTET - Paper- 1A- 2022

Mathematics
One Million = thousands
THAARA = BoTR
1 10000
2 100
3 1000
4 10

Smallest Composite Number

1 0
2. 1
3. 2
4. 4

G.C.D.of 78,91 and 117
78,91 3R 1171 G.C.D. . .......... 3

1 13
2. 26
3. 7

4 39



94.

95.

96.

97.

The ratio of the diameter of two circles is 3:4 then the ratio of
their areas

gl Bl & &TAT HI 3GUIT 3:4 3 @ 9B FFABA ... B
1 16:9
2 3:4
3. 9:16
4 4:3

If Rama starts homework at 5.30 AM and completes in
80 minutes. Then at what time she finishes her homework

afs AT JFag 5.30 TR YEHRS YS Bl 3 3R 80 fHfere
A g1 Pl 3 @ ag 31Ue ghd fhast wHT H gRI
fepa

1 6.50 AM
2. 8.00 AM
3. 7.50 AM
4 3.40AM

Number of types of triangles based on angles

HIV & 3R R B1aet et IdbR & gid 8?
1
2
3
4

If A:B=3:4,B:C=5:7, C:D=28:9 then A:C=7?
Ilc AB=3:4,B:C=57,C:D=89d A:C=?

1.
2.
3.
4,

1. 16:28
2. 15:28
3. 16:26
4. 12:16



98.

99.

100.

\S]

5Sm, 4m, 3.5m are the measurements of a cuboid then its
volume in cubic meter

531, 431, 3.5). Y ITct U T &b 3TId BT 3RIdeT

e Hiez H .......
1. 50
2. 60
3. 70
4. 80

Latha purchased a car of Rs. 2,40,356/- and spent Rs. 10,458/-
on it for service then sold it for Rs. 2,80,000/- then she got

1.
2.
3.
4

T

Profit Rs. 29,186/-
Loss Rs. 29,186/-
Loss Rs. 30,000/-

Profit Rs. 30,000/-
TP PR 5.2,40,356 Bl TRIChT AIFAT HIIT

3.10,458 T B3k . 2,80,000 B o7 =7 at 3A
...... T g3

oH 5. 29,186
HTeT 3. 29,186
grer 3. 30,000
ofidH 5. 30,000



101. In the following which is not in proportion

A Ig 31U H g ol
1. 6,16,9, 24

2. 10, 15, 20, 30

3. 3,4, 28,37

4 12, 11,12, 11

102. The number of terms in the expression 3x +y

3x + y FAHBIOT A UGl Pt =T
1

2 2

3. 3x

4y

103. Solve the equation g — % =14

g— % = 14 THDBT B & B3
1. 168

2. 84

3. 64

4. 42

104. The number which is neither prime nor composite

Ig TAT ol o Al 31T 8 3R o & e
1.

W N = O

2.
3.
4



105.

106.

If the room temperature is at 3.00 p.m. is 17°C and at
7.00 p.m. 10°C then the change in temperature per hour is

1. 3— C/hour
2

2. 1° C/hour

3. i C/hour
4

4. > Crhour

4
U B2 &I dIUHAT A aUuge 3:00 do Bl 17°C 8, 372
Id 7:00 IS P dUAT 10°C 3 Y Ut € b1 araaTe
AoRada a8 2 ...

1. 3—C/'€i?:r
2

2. 1° C/ ger
_7°

3. — C/ ger
4
—5° .
4. — C/ gear
4

Compound ratio of 2 : 3 and 4 : 3 is

2:3 37R 4:3 1 AP 3qurad
1. 2:3
2. 4:3
3. 8:9
4. 9:8



107.

108.

Which of the following statements is true

1. A triangle can have two right angles.

2. A triangle can have two acute angles

3. A triangle can have two obtuse angles

4. Each angle in the triangle is more than 60°
FoIH A Diel AT BAA AT g7

. U® By # S JADI0T g ADd ol

2. U Prys A 4 =g divr g1 Tba B
3. Us By # @ 3w Pivr g1 ASd gl
4.

IS &1 9&F BT 60° A TST gl Abe g

How many cuboids of size 4 cm x 3 cm x 2 cm can be made
from a cuboid of size 12 cm x 9 cm x 6 cm

12T, x 9FA.A. x 6 A.H. 3BR & gaTH A 4 A.A.
3A.F. x 2 A, 3B P fhdal TTH TT ST Ahd 82

1. 12
2. 35
3. 27
4. 52



109.

110.

In a school ‘X’ in tenth class exam 36 passed out of 48 and in
‘Y’ school 24 passed out of 30 students which school has
better performance

1. X

2 Y

3. Xand Y
4 X=Y

‘X’ TPpc H qAAT P Bl U H 48 BEN A A 36
B3 330Ul gU 3R Y’ IHa A 30 B A A 24 B 30l
gU, a {5 e & BRI 31t 3

1. X
2. Y

3. X 3RY
4 X=Y

The changes of share value in a week is Rs. 3672, Rs. 3657,
Rs. 3673, Rs. 3665 and Rs. 3668 average value of the share is
that week is

1. Rs. 3667
2 Rs. 3668
3. Rs. 3670
4 Rs. 3657

TP AWIE H UF MRR BT 7¢I &, 3672, 3. 3657, &.
3673, 3. 3665 3T B. 3668 & U A dccT 9T, df 3A
AETE P RIS AR BT AT A ... Bl

l. . 3667
2. 3. 3668
3. 3. 3670
4 . 3657



111. The area of triangle shaped elevation of a house is 195 sq.m.
Its base is 26m. Then the height of elevation

1. 17 m
2. 17 cm
3. 15m
4. 15 cm

Us Praeier = & 3>a1g a3 195 gof #ex 3
BT JfH A3 26 Hiez R @t HaE B B . B

l. 17 #t
2. 17 A3
3. 15 &t
4 15 A3

112. If subtract 3a + 4b — 2¢ from 3¢ + 6a — 2b then
IfT 3¢+ 6a—2b A 3a+ 4b — 2c Bl FeTheat A

1 4a+2b—3c
2. 3a—6b+ 5S¢
3. 3a—2b+4c
4 3a+6b—4c

113. Three or more lines are passing through a point then they
called

1. perpendicular

2. parallel lines

3. concurrent lines

4. transversal lines

et & 3iféres 3BT U foig A glp IR 3 a1 d
..... WU Pgardt

1. oA e

2. JAHEER T

3. AgEd 0

4. 3[Rl IT|ME



114. The following figure doesn’t have symmetric line

fereet Talaa snpta & Jala 3w ag w1di 31

< W N >

1.
2.
3.
4.



Maths Methodology

115. “Mathematics is science of quantity” stated by

1 Aristotle

2. Ptolemy

3. Euclide

4. John Dewey

1o AN &1 faster § A gRT Pa1 It 32
1. 3R

2. cres

3. oS

4. el SRR

116. Rangoly represents this mathematical concept

1. Algebriac Concept

2 Symmetry

3. Division

4, Measurement

JoMelt A IMUTIRT 3TIENRON BT Ufaleiierea wdm 3
1.  dietr ofora 3@em=on

2. LAY

3. THTT

4, HIU



117. The principles of project method are derived from
1. Materialism
2 Conceptualism
3. Naturalism
4

. Pragmatism

ufieren ugafa & Rigia g1 ab & urad gu 3l

1. Aiferpare
2. STAERUIdIG
3. Hpida
4. IagRAE
118. Napier scales are useful to teach
1. additions
2. subtractions
3. multiplications
4. divisions
AR YeTe a5 e & ferw su=ioh 2
1. 3ifafors /e
2. gcid
3. ﬂ'U'ITrT
4. HAT
119. Number of tools in fomative as.sessment are
TIATHD FAThel A IUBIVN Bl HIAT
1. 4
2. 5
3. 6
4, 7



120. ‘Minimum levels of learning’ concepts was introduced by

AT & FadA TR DI SAURONST Bl ... o SRAE Th

1. NEP - 2020
2. NCF - 2005
3. NEP - 1986
4. APSCF —-2011



121.

122.

APTET - Paper- 1A — 2022
EVS

The percentage of Nitrogen in air

a1 H ATSelotel BT Ufaord . ......
1. 21%

2 78%

3 0.03%

4 87%

The acid present in lemon
Acetic acid

Lactic acid

Malic acid

. Citric acid

o # HAls[g 3o
ehates 3mea
e 3T
Afers 3

fafes 3mea

SR E O



123. The right canal of Nagarjuna Sagar Dam
1. Lalbahadur canal
2 Jawahar canal
3. Krishna canal
4

Prakasam canal

ARGl APR Jier Bt qTigedt g
I CIeEIgE e

2. odge ege

3. PN Ege

4.  UPIAHA g2

124.  Number of eyes Honey bees have

1. 2 eyes
2. 3 eyes
3. 4 eyes
4. 5 eyes
HAYATTSTAT B 3THA DI ASAT
1. 23
2. 33
3. 43m@
4. 530

125. Ecological pyramid was first introduced by
1. A.G. Tansley
Charles Elton

2
3. Charles Darwin
4

. Lamark
A Il of Ugel UG Sifdd TURITHS Bi YB3 B
1. Ul eera
2. It Ueed
3. dOretd Sifde
4.  HATD



126.

127.

128.

Blue revolution refers to
1. Sericulture

2. Horticulture

3. Psciculture
Aquaculture
eﬁa"r Hifd AR Fdfed 3
1. 39 I
2.  QPmMEmEl
3. #ABel ured (R deaR)
4. AT Ut (37FET HeaR)

Leeches suck the blood of cattle and humans through special
structures called

1. Pseudopodia

2. Suckers
3. Peristome
4. Proboscis

Number of village secretariat employees in every Grama
Sachivalayam to provide services

maﬁmﬁﬁﬁmmﬁaﬂﬁmﬁmm

1. 10
2. 12
3. 9

4. 11



129.

130.

131.

The process of depositing zinc metal on iron is
Electroplating

Rusting

Crystallization

Galvanisation

®I Adg U ST &g SIHTA DI AT BI ... FEd 8§

%P’.N:*mgﬁ%.ww:*

Hi

Number of pairs of salivary glands in human beings

1. 4 pairs
2. 3 pairs
3. 1 pair
4. 2 pairs
AT # TR AR B ASAT
1. 4%
2. 3G
3. 1 o8
4. 2%

Magnetite is also called

1. Leading Stones (or) Lode Stones
2 Artificial magnets

3. Limestone
4



132. Pin code means

Postal Important Number

2. Postal Information Number
3. Postal Identification Number
4. Postal Index Number
fUerrs 3ref ...

1. URed surde sar

2. URTH ShIANE SdT

3. Uied 3reefceihdere dar
4. UR<TH 3T SidT



133.

APTET - Paper- 1 - 2022
Social Studies

Global warming is caused by

1.

Increase in the percentage of CO, in the atmosphere

2. Decrease in the percentage of CO, in the atmosphere
3. CO, is not released in the atmosphere
4. No change in the percentage of oxygen in atmosphere
PN BT aTUAT agat (Scilaet dTeHoT) PHT HJT BRUI TG
3l
1.  aramaRor & CO,b Afderd H gal
2. 9idEROT & CO, & ufderd A Ht
3. argHsa A CO, BT ISl g1 gial
4.  qramaRor A 3nfadee & ufded & g uRRada
Tl
134. The reason for less change in
temperature throughout the year in Visakhapatnam
1. It is on the seashore
2. It is far away from equator
3. It is near to equator
4. Population is very high
faensIaees#] # A W JUATA A BHA IS Glol B
T
PROT Bl
I v & e g
2. AT IJM A g Flewl
3. " 3/ P ferpe glem
4

31ferp ofer JAz=



135.

136.

One of the founders of Krishna Patrika was
1. Bankin Chandra Chatterji

2 Annie Besant

3. Mutnuri Krishna Rao

4.

Veerasalingam Pantulu

oon Uit & TRMusl A A UH A

1. afddg gesit

2. aiferfedie

3. AR PWIRE

4. dRerfeiord Udg

ASHA means

ASHA

1. Accredited Social Health Activist

2. Accredited Social Health Association

3. Acceleration Service Health Association
4. Adolescent Service Healthy Activist
ASHA &1 fiRarR &u I8 31

1.  HAIId 9T ATHSID TR BRIl
2. HISIAT YT ATHISTD TR HY

3. RO AT TR A

4 fepenR Aar TR PBrRidpdl



137. Find out mismatched pair

138.

1. Harisena — Sanskrit poet
2 Shanku - Architect

3. Varahamihira - Lexicographer
4.

Dhanvanthari - Physician

JeId SISl Pl UgdIfev|

1 g - Ipa B
2. 9ip - GRIPR

3. ouIg AfgR - org IY pdl
4 ersgare - Fafpea®s

Navaratnas — Nine great scholars were in the court of
1. Chandragupta - |

2. Chandragupta - 11

3. Samudragupta

4, Ashoka

TaRE Poolleiaret FGel [AGTe Feid GeaR & A?
1. YA S

2. e dera

3. AR

4.  3M9Mb



139. The “Bhudan Movement” was started by
1. Vinoba Bhave
2 Motilal Nehru
3. Neelam Sanjeeva Reddy
4.

Dadabai Nouroji
TSl 3iigiere fpaat 3R fepan?
1. faenamema
2. HAdAA S
3. i Hellg 38st
4.  CTETHTE SARIeH

140. The minimum calories that should be in the diet taken daily in
the rural areas

1. 2000 kilo calories
2. 2100 kilo calories
3. 2200 kilo calories

2400 kilo calories
mwﬂwaﬁsﬁﬁéﬁmaﬁaaﬁsaﬁsmswwﬁmﬁ

aﬁ#ﬁ AT

2000 fepett et
2. 2100 fpeat Beat
3. 2200 fpelt Beast
4. 2400 fpent Beat

141. A tree that was worshipped by the people of the Indus
civilization

Peepal tree

Banyan tree

Sala tree

Mango tree

¢ AIIAT B TN A J&T DI Yol Hed A?
duet o1 Us
gIIE BT US
AT gai
3TH BT U

%&».Nr‘g{?%.wwr‘



142. Who had worked for social reforms and modern education in
Muslim sector

1. Mohammad Ali Jinnah
2. Sir Syed Ahmed Khan
3. Gafoor Khan
Maulana Abul Kalam Azad

ﬁﬁw@ﬁsmﬁzﬁgmsﬁ?wgﬁmﬁmﬂ%
TAR & foru faoiw &rf fmen

1. HAGFIC 3Tl ot

2. IR AW 3G WA

3. IR I

4. HAlcren g BelH 3MElE

143. The Western Artist who had taken interest in the artistic
heritage of India

1. Anna Pavlov

2 Madam Blavatsky
3. Madam Curie

4 Margaret

M B BAlcHD RIAT A BRI THATEN BATDIR. ...
1. 37l yEaa

2.  ASH AdICHAB!

3. #HsHA w=gR

4.  HAPRE



144. One of the following is not Eskimos language
Aleut

Mandarin

Yupik

Inupik
| 3 Ig oAl @Y T =gl 32

%P’N&%%WP&

srege
Fiefe
ot

ER IR

145. The Academic Standard to be achieved by identifying,
responding to the causes, outcomes and consequences of
Corona virus

1. Reading and interpretation
2. Conceptual understanding
3. Appreciation
Application to daily life situation

an’rvnmasmﬁ ufomat 31R ufafeeenait &t
UgaTId: 31T oNdh fhd Sileidret Afers Ares
foS=r & Ueh AR BT

HApATcHD HAHST

AT

aRdfad Siidel & RgeA H Uil

b .



146.

147.

Events like “Science Day” in February and “World Water
Day” in March should be included in this plan.

1. Period plan
2 Year plan
3. Unit plan
4

. Lesson Plan
BR! A “Toste g’ 3tk A & Oy o fegw St st
HA Bl A Alotenl & onfHa fmam sen anfzgul

1. 3rafdr Qs
2. dres Aretelr
3.  Seprs Arofell
4. OIS retell

A Science teacher participating in different types of seminars,
workshops, symposiums is a part of

1. In-service training

2 Human relation

3. Get permission for lesson plan

4. Develop question papers

fafdreer SR wrfemensi, AFFERT & HPNeR)
geradren st 121 31 & 3idoid gl

1. HAAThIeliel HTRATOT

2. AN AdY

3. UIG JioTell dBfcTy Fbia drel

4. 996 USH Bt T



148.

149.

150.

The following is not an aim of affective domain
Characterisation
Valuing
Responding
Naturalisation
A HTHD 3131 BT [T =51 32
SzToTqulet
Afcge
IPHid BT

%P)N:*%%S».N:*

Fundamental principle of social science teaching is

1. Chronological approach

2. Correlation approach
3. Spiral approach
4. Unit approach

ATHATSTS fasme Riemr &1 Afes Rigia a8 2

BICIIHIHAD gReHIvT
AGATY gReHIoT
afthet gRepior
SHTE gRedIT

According to Morison the last step in teaching a lesson is

b=

1. Exploration
2 Recitation

3. Assimilation
4.

Organisation

HIRA & AR Tg TR1g1or H1 3ifcqa a=or 3

1.  31=yu

2. JTR UG

3. 3{cHAATd Ppell
4, 3Rl



